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MEMORY BASED QUESTIONS

MATHEMATICS (orforer)

If x* +"‘12" =322, then x - % isequal to:

X
(a) 4 O M6 o}
© 5 O @2 o
L.CM. of (1 -2m)> and (1 -2m)" is :
@ (1-2m* Q ) (1-2m" Q
© (1-2m)° O (d) (1-2m)* Q

A fraction becomes %— if 1 is added to both

numerator and denominator. If however 5 is
subtracted from both numerator and

denominator, the fraction becomes % The
fraction is
5 7
@ 3 oMy o
8 4
© 3 o @3 o

For what value of K will Kx + 2y = 5 and 3x +
y = 1have unique solution :

@ K=-6 O (b) K=6 o)
() K=6 O dK=2 Q
If x- 1 =3, thenx® -1 is equalto:
x 53

@) 27 O () 36 o)
(c) 81 0 d) -72 0
The equation whose roots are 2/3 and -2./3 is :
@ x?-4y3x-6=0 o}
® x*-12=0 Q
© x2-4J3x-12=0 Q
d) x>-6=0 o
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aﬁ{x“+—l4—=322,?ﬁx-l T U I :
§ X

(@) 4 O ()6 O
{© 5 Q)2 o)
1-2m* 3R (1 -2m)" W wEA. #

@) (1-2m)> O (b (1-2m" o)
© (1-2m)’ O d) (1-2m)* o)
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K& fo&w um & fag aftehtor Kx + 2y = 5 X
3x+y =17 Tah Afgda g1 ® :

(X =]

@) K=-6 O () K#6 o
() K=6 QO d) K=2 e
afgx-Lo3,@ 2 - Loa v g

. X x

@ 27 O (b) 36 O
(© 81 O () -72 Q
qg Wi fowes ge 2,/3 9K —23 & gl
@ x?-4V3x-6=0 o]
(b) x2-12=0 o
© x> -4/3x-12=0 @)
d x*-6=0 Q
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If log 2, log (2* - 1), log (2" + 3) are in A.P., then
x=

(a) logs3 O (b) log; 5 O
(c) log,2 Q (d) log, 5 Q
In A.P. there are three numbers such that their

sum is 18 and sum of their squares is 158. Among
them greatest numberis :

(@) 10 0 11 o
(¢ 12 QO 13 0O

Which term of the A.P. 20, 17, 14, ... is the first
negative term ?

@) 8 o @) 6™ o)
@ 9" o @™ 0
The value of—ﬂ is
1+ tan? 15°
(@ 1 O b J3 o]
(© i2§_ O ()2 0

In AABC, value of cosec A (sin B cos C + cos B
sin Q) is:

c a
@ - QO ® 7 o
© 1 O (d) None of these O
If sin 0 + cosec 0 = 2, the value of sin'® 6 + cosec™® 0
is:

(@ 2 Q (b) 10 Q
© 2% o (@ 2° o)
cos* 0 -sin* @ is equal to :

(a) 1+2$inzg Q (b)2c0529—1 Q
@ 1-2sin®3 O (d) 1+2cos’0 o

sin 25° sec 65° — cos 65° cosec 25° =

@ 0 QO b1 Qo
(© -1 O @2 @)
The centroid of the triangle formed by the points
(1,-3),(-3,4) and (5, 5) is

@ (1,2 O b 21 O
© G4 Q @ (-1,-2) 9
The origin divides the line joining (4, -2) and
(8, 4) in the ratio :
(a) 1:2

© 2:3

O b1:1 O
O (d) None of these o
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TfE log 2, log (2° - 1), log (2" + 3) @Wr=¥ iuft & §
A x T AT EO

(@) logs3 QO (b) log,5 Q
(©) log,2 Q (d) log, 5 O
i e war Soft B f et gioeer 188
3 37k =t @1 drTee 158 ®, I Wed agt
'{T@T'g
@) 10
() 12
[quTaT AU 20, 17, 14, ...
FHUTIE U O :

O () 11 0
o (@ 13 o
T @IF |7 U Ugel -

@ 8 o b 6" o}
© 9 o @ 7™ O
1—tanz 15° W"Tﬁ'm

1+ tan” 15° :

@1 O b 3 o
© —‘/25 O @ 2 O

TAST ABCH, cosec A (sin B cos C + cos Bsin C)
T A g0

¢ a
@ 7 QO b - Q
© 1 O a®ETE O
Afg sin 0 + cosec 0 = 2, a1 sin'® 0 + cosec'® O & T »

U g ;
O (b) 10 Q

(@) 2

(© 2% O (@ 2° Q
cos® 8 - sin* O T WM T :

@ 1+2sng O (b) 2cos”6-1 Q
() 1-2sin? g- O (d) 1+2cos’0 o)

sin 25° sec 65° - cos 65° cosec 25° &1 W BIAM :
(@ 0 O M1 Q
() -1 Q) 2 O

ﬁw%m%ﬁﬁmm&sﬁﬁ%ﬁcﬁm

(1,-3), (-3,4) 3T (5,5) &

(@ (1,2) O ® 21 Q
(€ 3.4 Q ) (-1,-2) Q
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(a) 1:2 QO Mm1:1 Q
(© 2:3 OdewHag=wEA O
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In the given figure, if D
Z0ODC = LOAB, then OA

183

(a) 4.6cm ©)
b) 4.8cm O
(© 258cm O]
(d) 1.6cm 0 A B

In a circle, O is the centre
and PQRS is a cyclic
quadrilateral. If ZPQR =

120°, then ZPOR = ...:
(@) 120° Q
(b)- 60° Q
() 240° Q
(d) 110° 0

: A
If DE is tangent at C
and ZBCD =120°, then B
ZCABisequalto:
(a) 90° @) 4
(b) 40° Q
() 80° QO b c E
(d) 60° A ©) -
AB is the diameter of the
circle and O is centre,
then ZACO is equal to: 50°,

A = B

(a) 40° 0
(b) 120° ®) A
(c) 80° @)
(d) 100° Q B

If PC=PD =x, PB =8, PA
=1, then the value of x is:

jXJ/D

@ 2v2 o)
®) 2 o S
4 Q KLA
© 7
e
@ 242 ©

If two medians of a triangle are equal, then the
triangle will be

(@) Rightangled but not isosceles
(b) Isosceles

(c) Equilateral

(d) None of these

c oo0©
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fea o fer W afg zoDC
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@ 46ecm O
(b) 4.8cm Q
() 2.58cm O
(d) 1.6cm @)
Og« & g § 3T PQRS
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ZPQR =120°, N ZPOR =... :

(@ 120° o) |
®) 60° o NS
() 240° 0 )

d 110° o)
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A LCAB T W19 &1 : ,
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() 80° o b c E
d) 60° 0 .
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" (@) >0

The number of revolutions that a wheel of
diameter % m will make in going 4 km is

(a) 3000 Q (b) 2500 Q
(¢) 1700 Q (d) 2000 o]

The arca of a rectangular field whose sides are -

in the ratio of 4 : 3 is 12 hectare. It's diagonal
will be:

(@) 400 m
(© 700 m
Length of longest rod that can be placed in a
room of dimensions6mx6mx3m:

(a) 18m O (b) 20m o
{€©) 9m O @ 15m O
A cone is cut half way by a plane parallel to

the base, the volume of two portions are in the
ratio :

(@ 1:1- O b 1:7 @)
{© 1:2 O d1:4 O

A cone and a hemisphere have equal bases and
equal volumes. The ratio of their heights will be :

(@ 9:4 QO (b)2:1 Q
(¢ 7:5 O d4:1 Q
The radius of the base of cone is r. If the height

and slant height are reSpcctively hand . Then
it’s curved surface area is :

@y nrl O (b) nrh O
(c) mrhl QO (d) =h! Q

O (d) 1200 m Q

‘Standard deviation of the distribution 44, 48, 45,

46, 50, 42, 54, 62, 50, 60, 52, 47 :

(@ 5.9 Q () 6.8 Q
(© 6.6 Q ) 6.4 Q
The mean of first n natural numbersis:
‘' n n+1
@ 5 o m o
n n-1
(c) 7 +1 Q () Q

Joining midpoints of respective tops in

histogram is called :
(a) Bar chart
{©) Ogive

Q (b) Frequency polygonQO
O (d) Pie-chart - 0]
The algebraic sum of deviations of a set of
values from their mean is :

QO (b =0 O

© <0 O (d) None of these Q

Q (b) 500 m o
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T AT Wd & &k 12 Teay 1 afg
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(a) 400 . Q (b) 500 =t O
(c) 700 . Q (d) 1200 . @)
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() 9. Q (d) 154t Q
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AT B

(@ 1:1 O (b)1:7 ' O
© 1:2 O (d) 1:4 o}
ek ¥iep AT W g e O U aur Iraa
FUET &, ST Sargdl o A UTd BN

(@ 9:4 O (b 2:1 Q
© 7:5 Q) 4:1 Q

Weh VIS oF TG ol fI4t r, Sermg haut favst
TS [ &1 THYSS T SAES FOTT :

(a) mrl Q (b) nrh Q
(¢) mrhl Q (d) nhl Q

Tawrs =t wmantiuter faeres 44, 48, 45, 46, 50, 42,
54, 62, 50, 60, 52,47 % :

(a) 59 O () 68 o)
© 66 O (d) 64 o
YT 1 GTRfae GO T |IeT Brel 2 :

@ 3 o ® it e
© 5+1 o @ o

amaa fax @t =ifeat & e fogen ==t o @
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Mean of first 5 observations is 7 and the mean
of first 6 observations is also 7, then the 6th
observationis:

(@ 6 O b 7 Q
© 9 O ) 12 , Q

The probability of getting a numbers with an
ordinary dieis: ,

1 :
@ 7 o () o

Gi—= N

0O

Wi

©

A die is thrown. Let A be the event that the number
obtained is greater than 3. Let B be the event that
the number obtained is less than 5. Then
P(AUB)is:

() 2
© 0

Q@

O(b)% 0
O @1 Q

A bag contains 8 red and 7 black balls. Two balls

are drawn at random. Then the probability of
both the balls are of the same colour s :

4 5

@ 15 O ® 33 o
© % o @ % 0

The probability of sure event is: ;
O () One O

(a) Zero
(¢) Two - Q (d) None of these O]
sin 1° sin 2° sin 3° ... sin 179° sin 180° =
(@ 1 O MmO Q
© B o @4 o
sin® @ + cos® 0 + 3 sin” 0 cos 0 =
(@ 0 O (b -1 O
(© 1 O @ -2 Q
The volume of a sphere of diameter 2x is :
4 L
(@) 3 X O (b 3 o
4 .3 - PPN
© 3w O (@ ™ o

If x'° + 2x°° + k is divisible by (x + 1), then the
valueof kis:

(@ 1
() -3

Q M) 2 _ Q
Q (@) -2 o}
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(@) A Q (b T O
© = O (d) ¢ & 0
sin 1° sin 2° sin 3° ... sin 179° sin 180° ST WIS &R :
(@ 1 QO o Q
(© —‘/23 O 4 O
sin66+c0569+35in29c0526$fTTFT@TIT':
(@ 0 O (b) -1 : o}
© 1 O {(d)y—2 O
T TR T ST 2x § | HHT HAT €

(a) -%nx Q () %nxz o)
© g—nx3 O (d) ’2 ax’ o)

‘aﬁx1°0+2x99+k, (x+1)'§ faur= =, @t kT
mgﬁm:
(@ 1

O (b) 2 O
© -3 O
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If a, B, y be the zeros of the polynomial P(x) such
thata + B +y =3, ap + By + ya = -10, and
afy = -24, then P(x) is :

(@ x°+3x%-10x + 24 o)
(b) x>+ 3% + 10x - 24 v 0]
(© x°-3x*-10x-24 o)
(d) None of these 0]

The system of equations x - 3y = 5 and 2x - 6y
=10 has:

(a) Infinite
(¢) Onesolution

O (b) Two solutions Q
QO (d) None of these O

One root of the equation /2x + 9 + x =13 is:

@ 0 O ()2 o}
(¢ 20 Q () 8 o
cosec A

cotA+tan A

(@) sinA QO (b) cos A o
() secA O (d) cosec A Q
The point (0, 0) lies

(a) on x-axis Q (b) on y-axis o

(c) atorigin Q (d) in1* quadrant O

Angle in a minor segment is :

(@) Rightangle O (b) Acuteangle Q
() Obtuseangle - Q (d) None of these o
Two angles subtended by an arc on the same
segment are :

(@) Alwaysacute O (b) Equal Q
(c) Alwaysobtuse Q (d) Notequal o

Index numbers are a measure of :
(@) Sociological behaviour

(b) Infant mortality rate

(c) Economic behaviour

(d) Specific death rate

00O

"If AABC ~ AEFD, then ar (AABC) : ar (ADEF) is :
. (@) BC*:FD?

O (b) AB*:ED o)

(c) AC:FD? O (d) BC*: EF? o
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[43].

[44].
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[47].
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[50].

afg o, B, ¥ TEUE Px) & V[ATH 39 YER
a+B+y=3,a[3+B7+7a=—10,3ﬁ'(a[3'¥=—24,
& P(x) &1 W 2

(@ x°+3x°-10x + 24
(b) x>+ 3x% + 10x - 24
© x*-3x*-10x-24
(d) ¥ 9§ =g 7
WHTHTOT FHahTal x - 3y = 5 3T 2x - 6y = 10 7@
?:

cCCcCO

CcC

(a) & B Q (b) & & o)

() TH ®A OQWdeHEHTE O

Fﬁmm-rx:miﬁl@'ﬂﬁ%:

@ 0 O @2 0

(© 20 O ) 8 o)
cosec A -

cot A+tan A

(@) sin A O (b) cosA O

(c) secA O @ cosec A Q

fag (0, 0) e 2 -

(a) x-31& o O (b) y-a187 & o)

(© @ feSg W O dyem=guti & O

WY I GUE | oA w07 P

(a) TSI Q (b) =gA=HIVI 0

(©) feamaioy OWdeEHFa=wEE O

Y GRT U B 99 @Us ¥ &9 9 @ HioT

@) ST ARITT O (b) WA o)

(© U@ afFwEer O (d) wum & o)

qashis Fr & wa 2

(a) 9mifas® =R o

(b) forg g O

(c) oTfefs =R O

d) fofere geg = 0

A% AABC ~ ALFD, 98 ar (AABC) : ar (ADEP) § ;

(@) BC?:FD? O (b) AB2:ED

() AC:FD? O (d) BC*: Fr?

" SCIENCE (frsmer)

Image formed by a plane mirroris :
(@) Real Q (b) Magnified Q
(¢ Inverted O (d) Virtual @)

Mirror used in movie projection is :
(@ Convexmirror O (b) Concave mirror Q
(c) Planemirror O (d) None of these 0

[51].

TRAA UUT GRT & aren yfafens grar & :

(a) aTEIferR Q (b) smafda o)

(© e O (d) s o
[52]. W&t Wistaed B wgew gdur § -

(a) Se IO O (b) 3raaeE gy O

(c) wHad o OdezFaaswEa O
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[53].
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[55].

[56].

[57].

[58].

[591.

[60].

[61].

[62].

[63].

Mirror which has magnification always unity is :

(@ Planemirror O (b) Convexmirror O

(c) Concave mirror O (d) None of these 6
Which body absorbs all colours ? |
(a) Black O (b) White o
(¢ Cyan O @ Mégenta ®)

The refractive index of glasé is 1.5. The speed of
lightin glass is:

@ 3x10°m/s  Q (b) 2x10°m/s o
© 15x10°m/s O (d) 4.5x10°m/s ©)

In automobiles convex mirrors are used to see
the traffic coming from behind because :

(@) They form magnified images o
(b) They form erect and diminished images O
() They form real images 0
(d) They look beautiful o
Light travels with fastest speed in:

(a) Water O (b) Vacuum O
() Air O (d) Glass o

Mirage is an example of :

(a) Reflection QO (b) Refraction Q
(¢) Total internal refraction 0]
(d) Total internal reflection Q
Cinematography makes use of :

(a) Accommodation Q
(b) Persistence of vision o
(c) Least distance of distinct vision Q
(d) Bi-focallens system. Qo
Unit of magnification is :

(a) metre QO (b) diopter Q |
(©) m” Q (d) no units Q
In an astronomical telescope, objective lens is :
(a) Shorter focal length Q
(b) Larger focal length O
(c) Equalfocal length of eyepiece O
(d) None of these o

The persons which are involved with a lot of
reading work, usually suffer from:

(a) Hypermetropie O (b) Presbyopia -Q
() Astigmatism O‘ (d) Myopia Q
Image formed in simple microscopeis :

(a) Erect O (b) Inverted 0
(¢) Smaller than object O
(d) Very shining Q
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- (a) Potential measurement
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The lens present in eye is :

(a) Convex QO (b) Concave o
(c) Plane 0]
(d) None of these O
The element of an electric heater is made of :

(a) Copper O (b) Platinum o
(¢) Nichrome Q (d) Tungsten ‘ O

Two wires each of resistance r ohms are joined
in parallel. Their equivalent resistance will be :

(@) 2rQ O b5 o)

O (d) ZeroQ O]

An electric bulb is rated 220 volt and 100 watt,
power consumed by it when operated on 110 volt
is:

(a) 50 W O b 75W
(c) 90W Q () 25w

Voltmeter is an instrument used for:

© %0

© 0

(b) Current measurement
(c) Electrolysis

000

(d) Charge measurement

The resistance of an ideal Ammeter will be :
(a) Zero O (b) Infinite O
(c) 10 ohm O (d) 50hm o
The instrument which converts sound energy into
electricenergyis:

(@) Loudspeaker QO (b) Microphone O
(¢ Transformer O (d) Electric Q
The power rating of an electrical appliance is
given by:

@ I’V Q (v) I*/R 0
(¢ VR O () Iv o
The device which converts mechanical energy
to electrical energy is known as :

O (b) Electric motor O]
Q (d) None of these Q

If 3 resistances of 3 ohms are connected in
parallel, the resultant resistance is :

(a) Generator

() Refrigerator

(a) 9 ohms O (b) 3 ohm Q
{¢) 1ohm Q (d) 6 ohms e
In household circuits, a fuse wire is connected in :
(a) Series Q (b) Parallel Q

(c) Both(a)and (b) O (d) None of these Q

[64].

[65].

[66].

[67].

[68].

{69].

[70].

[71].

1721

[73].

[74].

(a) S O (b) s o)
(0 = g &) B o
d) 378 9 Hrg T o)
e dex 1 ueid= o g R

(a) a0 O (b) wifem o
(c) "esId O (d) Tm=A Q
& AR fol yere o wem @ WRY ¢ oiiey 8
AR shH o WIS &1 3eRT uRomst whdty g

@) 2rQ o) (b)-2r~Q o)

© 2@ O (d) Zero © o)
U faregm we w220 dtee 30 100 Stee 3ifEa
1 TR 110 diee WX <A WIC @ @ g vhR
T

(a) 50 3= Q (b) 75dT 0
() 90 == Q (d) 258 Q
areer HeT 4 wanT fwar wrar @ .. & fe
(a) fawa 997 ‘ o
(b) HRT TYH ‘ @)
(c) faga e ' Q
d) &Y "o o)
IcH 3T W/t Ffaraehar g :

(@ ™ O (b) 3ra Q
© 10 Q O W50 o)
(a) TITTIHRT Q (b) UBHEH Q
(©) TEHER O (d) foga AR Q
Ueh ToE@ Iushtor st urer) 3ifera @t ot 3
@ I’V O () I*/R . O
(© V2R Qo @ v @)

% qhw < i st w e st a8
HEAMT B : s

(a) TR O (b) faga w= o)
(c) FsrER O@dwdgaETE O
G- 3 o A wferter war= shm § WA
ford 9 | g vy g

(a) 9 3ty O (b) 3 3 o
(© 13 O (d) 63 o
Wmﬁﬂﬁmiﬁﬁm%:

(a) 2ofsem o Q (b) HIR FH d o)

© @IMOL)TF O IsETE O




POLYTECHNIC ENTRANCE EXAMINATION (2012-2013) (aiferferer yawr wian (2012-2013)) n
[75]. The working of a generator is based upon : [75]. SR 357;55"& yunet e g @

(@) Electromagnetic Induction Q (a) o gt W o)

(b) Heating effect of current Q - (b) Taga ww w1 amda guE Q

() Chemical effect of current o () foem w1 vemfE o= o

(d) Magnetic effect of current o (@) forpa U =1 gaHE 99 O
[76]. Current that does not changes its direction after | [76]. o arT St wwa o WA AT o ST TG

equal intervals of time is called : o ufrafda =& &t & ¢ .

(@) Directcurrent Q (b) Indirect current O (a) TR= g Q (b) k= ¥ ®)

(c) Alternating current 0] (c) Temadt uw - e)

(d) Static electricity o (d) Teer farp O
{77]). Which magnét is powerful ? [77]. e & & srfier Areaay ek A-TT G ]2

{(a) U-shape magnet o) (@) U-3TPR T=%H O

(b) Barmagnet O (b) B gH&H Q

(¢) Electromagnet O (c) Taem g O

(d) Simple magnet Q (d) = g O
{78]. The biggest source of energy on earth is: | [78]. gt W St R weR favmer 9| 2

(a) Tuel QO (b) Stars Qo (a) 3¥ O (b TR o)

(¢) Sun Q (d) Moon o) © = ‘ O (d) == @)
[79]. Non-renewable energy source is : [79]. 3rEERTUTT Sl W € :

(a) Windenergy O (b) Gobar gas Q (a) arg S O (b) TR O

(©) Wood O (d) Uranium o) (c) T O (d) gtfam O
[80]. Which fuelis used to fly arocket ? [80). e W W A e Fo - ®?

(@) Coal O (b) Liquid hydrogen O (a) =i Q (b) T TR Q

(¢) Methanol Q (d) Uranium Q (c) e O (d) Tfam O
[81]. Which of the following is good conductor of | [81]. e o 9 oy o1 e -6 87

electricity ? (a) & O (b) et @)

(a) Diamond Q (b) PVC o

(c) Graphite O (d) Neoprene ] (c) UwrEE O (d) Fram= e
[82]. The energy stored in fossil fuels was originally | [82]. et Wt Sfratew gem ¥ wufea gt € @w wrw

obtained from the: B 272

(@) Sun Q (b) Moon Q (@) T QO (b) T==t o

(c) Earth Q (d) Atmosphere ] (c) gt Q (d) argHvE Q
[83]. Solarcell converts solar energy into: [83]. W Oel WX FAl vl ultafda oar &

(@) Heatenergy Q (b) Nuclearenergy O (@) FE = F O (b) TR Hoit H Q

(c) Electricenergy O (d) Magneticenergy QO © fé"ga Ex) O (d) g Soit o O
[84]. Nuclearenergy is the result of : ‘ [84]. wRTeRtT =l wftomw T

(a) Conversion of volume to energy 0] (a) oTFas @ Tl | gfErd e

(b) A chemical reaction O (b) Twrafe fwa . e)

(c) Conversion of mass into energy O (©) T=EM == § wfafi B o

d) S:;‘g’rswn of potent‘lal eﬁergy to kinetic o (d) Feorferst ot 1 st et & yRahia g o
[85]. The charge presenton aneutronis: [85]. =S WX hIW W AV BT 2l

{a) Positive O (b) Negative o (a) YATeS QO (b) HITHF Q

(¢ Nocharge QO (d) None of these O (0 Frmafem O (d) 9 ¥ + :13’1 O
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POLYTECHNIC ENTRANCE EXAMINATION (2012-2013) (Wifadfees waw wien (2012-2013))

Bhaba Atomic Research Centre (BARC) is situated
in:

(a) Chennai O (b} Trombay o
(c) Mumbai O (d) Nangal Q
The mass of an atom is expressed in :

@ kg O 0g o}
(©) amu. O @ Ib O
Ultraviolet rays cause :

(a) AIDS O (b) Skin cancer @)
(¢) T.B. O (d) Small pox O]

Which of the following is biodegradable :
(a) Paper O (b) Aluminium bags Q
(¢ D.D.T. O (d) Plastic O
Most dangerous pollution is caused by :
(a) Air Q (b) Chemicals
() Noise .

(d) Radioactive substances
Cl,+2KI—>2KCl+1,is a:

(@) Combination reaction

(b) Decomposition reaction

(¢) Displacement reaction

(d) Double displacement reaction

©00©0

Q000

The combination reaction is :

(@) Burning of metals

(b) Extraction of metal

(¢) Electrolysis

(d) None of these

Which one is a balanced equation ?
(@ CH,+0O,—>CO,+H,0

(b) CH,+20,-»CO,+2H,0

(¢) CaCO;-—2Ca0+CO,

(d) SO, +2H,0->H,S0O,

Which of the following did not disturb the
equilibrium point?

(a)" Catalyst O (b) Temperature O
(c) Pressure Q (d) Concentration Q
The unit of rate of reaction is:

00O

000

(a) Mol L 172 O (b) Mol/second @)
(© Mol s O (d) None of these Q
Which is a strong electrolyte : .
(a) -HCl Q (b) H,S0, o
() HNO, O (d) All of these Q
The rate of reaction depends on the :

(@) Temperature O
(b) Concentration of reactants O
(¢) Chemical nature of reactants O
(d) Allof these Q

[86].

[87].

[88].

[89].

[90].

[91].

[92].

{93].

[94].

[95].

[96].

[971.

TIWT YT Ve oy T #

() T O (b T o
(© g Q (d) e Q
WRHTY] ST geAaT weivia femar s #)

(a) kg O bsg Q.
(¢) am.u. O @ Ib )
(a) TsH O (b) 1 T F @)
(c) 2 O (d) ¥9=& Q
et o se-ar Freaoie et §

(a) wrTS O (b wHfafEa H g O
(© & O (d) wifes o)
TR FIFTRIh YguuT Bie &

(a) T FW O (b) WA 31
(c) TR 3R

(d) Yearedt w=ref gr

Cl, + 2KI = 2KCl + 1, Teh:

(a) HarH erfafewar @

(b) Toreemes sifafepar @

(c) fomrem stfafman

(d) fefereamas sifafwan @

(a) 91gstl = 3&A

(b) WIg 1 TR

(c) Torega-staeed

d) 79 9 &K &
HA-t Fferd dteRTT §?

(@ C,H,+0,- CO,+H,0 O
() CH,+20,->CO,+2H,0 Q
© CaCO ~>2CaO+CO O
d SO, +2HO - H,S0, Q
ﬁwﬁmﬁﬁﬁwwﬁgmwwﬁm
£7

CCCO CCO

cCOo0O0O

(ON®)

(a) STH Q (b) d™ o)
(¢ = Q (d) Tz O
Trarafien afufwar =t 48 3}3? %:

(@) MolL™s™ O (b) Mol/second o
© Mol™s™ OdeHasE=E O
o1 o @ yeer Je@-Ouey 2 :

(a) HCl O () H,50,

(0 HNO, O (d) SW=a wt

sifufrar ‘EH'T T Proft el %

(@ a9 | . 0]
(b) AfTwRER! =t Qg T 0
(c) ARl = varEf g W O
(d) 3qusd it O
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[98].

The taste of which of the substance is bitter:

(a) Milk O (b) Amla Q
(©) Washihg powder solution Q
. (d) Salt solution O]

[991.

[100].

[101].

[102].

" [103].

[104].

[105].

[106].

[107].

Which of the following substance makes the
fruits sour:

(a) Acids O (b) Bases 0]
{c) Salts O (d) None of these O]
Acids in water contain :

(@) H'ions Q (b) OH ions Q
(©) O ions Q (d) None of these @)

Which of the following is a weak acid ?

(a) HNO, Q (b HCl 0
() CH,COOH O (d) H,S0, 0]
What is the pH value of blood ?

(@ 7 QO (1 Q
(c) 7.3 O o Q
pH of 0.1 mole NaOH would be :

@ 1 Q (b) 7 )
(¢ 14 Q ) 13 Q

The compound used for disinfecting water is :

(@) Sod ash

(b) Sodium carbonate decahydrate
(c) Bleaching powder

(d) Bakingsoda

© 0 0 0

A substance which reacts as an acid as well as a
base:

(a) Acidic substance O
(b) Alkaline substance o
(¢) Amphoteric substance Q
(d) Neutral substance Q
The best conductor of heat is:
(a) Silver O (b) Lead Q
{¢) Copper 0O (d) Aluminium o
Rustis:
(a) Iron (III) oxide 0]
(b) Iron (IIT) hydroxide Q
(c) Iron (II) oxide Q
(d) Mixture of iron (III) oxide and iron (I1I)
hydroxide 0]

[98).

[99].

[(100].

[101].

| [102].

{103].

[104].

‘ [105].

[106].

[107].

frer ¥ @-ar verd wéon g R

@ 3 Q (b) sferer Q
(c) e U=ET & A ; O
(d) TF H A e

ﬁwﬁﬁmmﬁm%mm@@
B 27

(a) Freita o<b)am‘m 0
(©) T OdTHIFT O
3T 9T H

@ H'smAaRE O ) OH A s € O
(© O aRE O (d) FH § HE T o}

forer § | @b @ g ona #7

(@) HNO, O (b) HCl Q
(© CH, COOH O (d) H,S0, Q
T&d &t pH U B

@) 7 Q ()1 Q
© 7.3 Q (d) 0 o}
0.1 9 NaOH T pH ¥ :

@) 1 Qb7 o}
© 14 O @) 13 o}

W & ST @l o] W e O fod oA T
mﬁar&nzﬁﬁm%

(a) WET &R

() wifsan HETE SHEESE

(o) Toiser i

(@) sfEwm e

U Urd WY ot § &N S Rl ONE SHaRT
2

gOOOO

(a) e ugmed O

(b) &a w=d o)

(c) gy uared O

(d) 3= e o)

T T WATAH AT B

(a) Taear (i) O (b) T Q
- (c) I (afam) O (d) vegHifEg o)

e

(a) TR (I1) sifamee @ o}

(b) T (I11) TR 3 o)

(€) 3FE (11) STrerEe © e}
(d) 3 (III) TS T 3 (110)
BTEgiwaEs %1 g
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[108]. The non-metal which is liquid at room O ,
temperature is: [108]. = 3TEg W UL & WU UL gar 3rewAT H gt B -
(a) Chlor.ine Q (b) Sulphur o (a) FAE O (b) TR o
(c) Bromine O (d) Carbon o ,
[109]. Which is the heaviest metal : () = Q (d) o
(a) Hg Q (b) Mg O | [109]. & & Ha@ wHT uq ¥
(0 Ag Q (d) Ca O (@ Hg Q (b) Mg o
[110]. Heating of a substance (ore) in the absence of air (© Ag O (d) Ca Q
~ iscalled: (110]. 37aaR =Y oTg @t arquftafa § m w0 @ wgd &
(@) Calcir}ation O (b Combir\a‘tion o (@) firemm O (b) HarwH o
() Roasting O (d) Combustion Q
[111]. Good conductor non-metal is: (@ W O @ =& . 2
@ N O bP O | [111]. 37eTg S YOI & :
© C O @1 o) @@ N O P Q
[112]. Purest form of iron is : © C Q@I O
(a) Cast iron Q (b) Pigiron O | [112]. &g =T Hdq ®Y R
(c) Wroughtiron O (d) Steel Q (a) = IRRA O (b) fum s o)
[113]. The most widely used metalis: () IN HEE QO d) B= _ Q
(@) Aluminium O (b) Coppet Q | [113]. Wa® Hfire SUHNT € arelt e ?
(¢) Tron O (d) Magnesium Q (a) TogHiFH O (b) FW Q
[114]. Alcohols are: ‘ (c) ST (iten) O (d) e O
(a) Heavier than water O | [114]. 3rcwiEs B 2
(b) Lighter than water o (@) T | 9 o
(©) Acidic Q (b) 9 H TTH O
(d) Basic o (c) er=dra Q
[115]. CH, of methane: (d) &= o
(a) Symbol Q | [115]. CH, "9 =1 2 :
(b) Molecular formula O (a) g O
(¢) Structural formula O (by = ¥ o
(d) Electronic formula of methane Q (© W T Q
[116]. Which element has the highest electron affinity : (d) TR g3 Q
(@) F O (b) Br O | [116]. Tr=1 ¥ & forw o =t srfershaw getagi™ wegr
© Cl O (I Q (@ T QO (b) Br O
[117]. The nature of SiO, is : () Cl O (@I Q
(@ Acidic O (b) Neutral O | [117]. SiO, # WFfw #:
(¢) Basic O (d) Amphoteric & (a) 3T=T" O (b) =T o
[118]. Mendeleev’s classification of elements was based (o) s Q (d) Iyt O
on: [118]. HEFH o SIeHIUT T W T :
(a) Atomicnumber O (b) Atomic mass O (a) WRHIY] GEAT e}
(c) Physical state Q (b) WTHIY HR @)
(d) Metals and non-metals (@] (c) wiferer eraeen QO
[119]. Which of the following is not anoble gas ?. (d) =g T g Q
(@) Helium Q (b) Xenon O | [119]. e ¥ v afrg dm =i £ -

(¢) Radium O (d) Radon O (a) Etferam O (by 3= 0]
[120]. Which of the following salt is not soluble in water : (0 Uemm Q ) E= O
@ K,CO, QO (b) BaCO, O | [120]. =1 ¥ @ =IF A1 AQOT et F farerg T &

(0 CaCl, O (d) Na,SO, 0 (@) K,CO, O (b} BaCO, O
() CaCl, Q d! Na,SO, Q
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e e

SED

m |

Choose the suitable article from the given alternatives
[121]. Where there is a will there is

way.

(@ a Q (b) the O]

() an QO (d) None of these o
[122]. french is an easy language.

(@ a O (b) an O]

(c) the O (d) No article Q

Choose the correct passive voicé from the given
alternatives. -

[123]. Somebody has put out the light:
‘() The lighthad been put out by somebody o
(b) The light hasbeen putted out by somebody. O
(c) The light was put out by somebody. o
(d) The light has been put out by somebody. O
[124] They sell toys here:
(@) Toys are sold here by them.
{b) Toys were sold here by them.
(c) Toys are being sold here by them.
(d) Toyshave been sold here by them.

0000

Choose the correct verb form from the alternatives
provided below.

[125]. The earth

round the sun.

(a) hasmoved O (b) moved o
(c) moves O (d) is moving Q
[126]. Don’t disturb me.1 ___my assignments.
(@) did O (b) amdoing o
(c) havedone O ) do 0]
Insert suitable preposition from the given choices.
[127]. He goes to the Church sundays.
(@ in O (b) at 0
(¢) on O (d) over Q
[128]. He walked my life gradually.
(a) in O (b) into o
(¢) over O (d) on Q

1. (a) 2. (a) 3. (b) 4. (b) 5. (b)
M. () 12.(a  13. (b) 14. (a) 15. (a)
21. (@) 22. (b)  23. (d) 24. (b)  25. (0)
31. (b) 32.(d)  33. (b) 34. (a) 35. (d)
4.(@) 42.(c) 43.(a) 44.(d 45 (b)
5. (d) 52.(b) 53.(a  54.(a) 55. (b)
61.(b) 62.(d) 63.(a) 64.(a) 65. (c)
71.(d) 72 (@ 73 (0 74. (b)  75. (a)

n R ANSWERS _

Which of the alternatives best expresses the meaning of
the sentence given below.

[129]. He is in soup because of his actions.
(@) He is proud of his actions.
(b) He is in difficulty due to his actions.
(¢) Heisindeed sad to drink the soup.
(d) He loves to be in win-win situation.
[130]. All his schemes ended in smoke.
(a) His schemes rose high like smokes.
(b) His schemes caught fire.
(¢) His schemes came to a close.

CCCO

(d) His schemes started again.

Pick the correct antonym for the word ‘grief’
[131]. (a) desire O (b) agony -

(¢) burden O (d) pleasure
Choose the suitable synonym for the word ‘prime’.
[132]. (a) best Q (b) cheap

(¢) unimportant QO (d) ordinary
Choose the suitable one-word substitution for the
following.

[133]. Ophthalmologist

(@) Aneye specialist

(b) A Bone specialist

(c) A brain specialist

(d) A skin specialist
[134]. Astronomy

" (a) Scientific study of heavenly bodies
(b) Scientific study of organs of our body
(c) Study of various types of hand writing
(d) Study of different cultures
A philanthropist ‘
(a) Hater of mankind
(b) Lover of mankind
() A stamp collector
(d) A lover of animals

o0 00 0©0O0OCC

C0CC

CCOC

[135].

COoO0C

—

6.(b) 7.(d 8. (b) 9. (@  10. (c)
16. (@) 17. (b) 18. (a) 19. (d)  20. (a)
26. (b) 27.() 28.(a) 29.(a  30. (b
36.(d) 37.(0) 38.() 39.()  40. ()
46. (c) 47.(c) 48.(b)  49. () 50. (a)
56. () 57.() 58.(d) 59.(b)  60. (d)
66. (b) 67.(a) 68. (0) 69. (3  70. (b)
76. (@) 77.(0) 78. (0 79. (d)  80. (b)
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F 81.(c) 82 (a) 83. (c) 84.(c0 85.(c) 86.(b) 87.(c) 88.(b) 89.(a)  90.(d) )
91.(c) 92.(a) 93.(b) 94.(3) 95.(a) 96.(d) 97.(d) 98.°(b)  99.(a) 100. (a)
101. (c) 102. (c) 103.(d) 104. (c) 105.(c) 106.(a) 107. (d) 108.(c) 109.(a) 110. (a)
111. (0 12.(c) 113.(c) 114.(b) 115.(b) 116.(c) 117.(d) 118.(b) 119.(c) 120. (b)
121. () 122. (d) 123.(d) 124.(a) 125.(c) +26.(b) 127.(c) 128.(d) 129. (b) 130. ()
131. (d) 132. (@) 133.(a) 134.(a) 135. (b)
S J

HINTS/SOLUTIONS TO SOME QUESTIONS (S UVl & Hehd/Tcl)

[ x*+2-42-2-32 [ xtetoe2-2=32
X X
2 2
(x2+—1-2—) =324 (x7-+—15-) = 324
X b
x2+—1—2=18 x2+—12—=18
2 4 b 4
1) %
(x+—) -2=18-2 (x+—) ~-2=18-2
2 2
(x—l) 15 (x-l) w16
x~l= x—l:4
X X
2. L.CM.of(1-2m)*.(1-2m)" and (1 -2m)" 2. @-2m*.(1-2m)"a (1-2m)"
LCM. =(1-2m)* . (1-2m)* = (1 -2m)* 1 A8 (1-2m)%2 . (1-2m)2 = (1 -2m)™
a+1l 4 a-5 1 .
[3]. —_— =, —— = a+1=é 0—521
it =dbbdy da—1p=B~§ 5a+5 =4b+4, 2a-10 =b-5
54-4b+1=0, 2a-b-5=90 50—4b+1 =0, 20-b-5=0
8a-4b-20 =0 82— 4b-20 =0
5a-4b+ 1 =0 5a-4b+1 =0
- ¥+ - - 4+ -
3a-21=0 3a-21 =0
a=7 a=7
14-b-5=0, b=9 - 14-b-5=0, b=9
7
The fractionis%. o= ggﬁh 7
[4].  For unique solution [4]. @t @ sAfgda &« gim S
4 b 4 b
a, ;Lbz . a b
[5]. 3 [5). 3
(x-l) =x3—-1§—3x—1—(x——1—) (x—l) =x3——1——3xl(x~l)
X x X b x %3 x x
P=x'-L _3x3 | P =x-L_3x3
X x

=5 x3—%=36 = x3———17=:36
x o
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[6. Sum of the roots = 243 — 243 =0
Product of the roots = 24/3 x (—2~/§ )=-12

. Equation is ¥?2-0.x+(-12)=0
x? -12=0

7. 2log(2* ~1)=log2+log 2" + 3)
2log (2% - 1) =log {2(2* + 3)}
log 2% - 1)* = log (2(2* + 3))
(2* =12 =227 +6
(2¥)* 22 +1=22" +6
(2°)* -42* -5=0
(2* -5)(2* +1)=0
2* =5
x=log, 5
(8. a-daa+d
a-d+a+a+d =18

3a =18
a =6
(a-d*+a*+(a+d)* = 158
34° +2d* = 158
108 + 24> = 158
24> = 50
4’ = 25
d =5
Greatest number is 11.
91 T, =a+(n-1d, a=20,d=-3
-1 =20+(n-1)(-3)
-1 =20-3n+3
3n = 24
n =28
8th term is the first negative term.
[10]. l_—_tgﬁ =cos 3D
1+tan’ 0
2
_1—_tan_2_1§ =cos 30° = [é
1+tan® 15 2
(11]. cosec A (sin B cos C + cos B sin C)

cosec A.sin (B + C)
cosec A .sin (n—A)
cosecA.sinA =1

A+B+C=nandcosecA=—fl—
sin A

[12]. sin® + cosec®=2

(sin 8 + cosec 8> =4

[6].

{71

(8.

[91.

[10].

[11l.

[12].

el W WE =243 -243 =0
el T IES = 24/3 x (-24/3) =12

- EgErETr x? - 0.x + (=12) =0
A x?2-12=0

2log(2* ~1)=log 2 + log (2" +3)
2 log (2¥ - 1) =log {2(2* + 3)}
log (2° —1)% =log (2(2* + 3))
(2% -1)? =22 +6
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= (sin 0 - cosec 6)* =0
= sin 6 = cosec 0
= sinf=1

1

sin'® 0 + cosec’’ 0 = (1)10 T =1+1=2
cos*f-sin'o = (cos® 0 + sin® 0) (cos” © - sin® 6)
=c0820=2cos?0-1
sin 25° sec (90 - 25) — cos 65° cosec (90 - 65)
sin 25° cosec 25° ~ cos 65° sec 65°
1-1=0
Xq + Xy + X5
= 3 .
1-3+5
S
Centroid (1,2)

1t s ¥ Yy
3

:1[ y=:3_+34__t_5_=2

(.4

m:n=1:2
By taking vertically opposite angles equal As will

be similar and then apply ratio of corresponding
sides

45 OA _ AB Ia QA=§

oD CD "~ 32 2
OA =~g-x3.2=4.8cm

ZPSR =180° - ZPQR = 60°

ZPOR =2/PSR =2 x 60° =120°

£P = £ZBCD =120° (Angle in alt. segment)
LA+ £P=180° (opp. £s of cyclic quad.)
ZA+120°=180°= ZA =180°~120° = 60°
ZACB=90° Angle in semicircle

OB=0C

. ZOCB = £OBC =50°,
ZACO =90° - 50° = 40°

(radii)

[13].

[14].

[15].

[16].

[17].

[18].

[19].

[20].

= (sin 0 - cosec 6)*=0
== sin B = cosec 0
=>sinf=1

sin'® 0 + cosec’® 6 = (1)" + (~1;‘ gl yl=2
cos* 6 -sin* @ = (cos2 8 + sin” 0) (cos2 6 — sin’ 0)
=c0s20=2cos?0-1
sin 25° sec (90 - 25) — cos 65° cosec (90 — 65)
sin 25° cosec 25° - cos 65° sec 65°
1-1=0

(-4, -2)

T m+n

= i ¥l
m+n

7

m.8+n.(v—42
m+n

8m—-4n =0
8m =4n

D=

m:n=1:2
ﬁT@TWW%ﬁAW%ﬁ’ﬁIWﬁ
el &1 AU /A W

; OA _AB ,; OA_3

e  ODTD V323
0A=~g-x3.2'=4.81&1ﬁ

ZPSR =180° — ZPQR = 60°

ZPOR =2/£PSR =2 x 60° = 120°
£P = ZBCD =120° (TH<R @US H o1 HI])
LA + /P =180°

ZA+120°=180°= LA =180°-120° = 60°
ZACB=90° < Wgga &1 Him)
OB=0C o
. ZOCB
ZACO =90




POLYTECHNIC ENTRANCE EXAMINATION (2012-2013) (4w fiFas wior wlien (2012-2013))

[21}. PCx PD = AP x PB
X =8x1
2 _g
x=+8 = 242
[22]). Triangle will be isosceles.
{23]. Circumference = nD = 272 _17T =2m
100
_ No. of rounds = e 20 L =2000
[24]. Area = 12ha = 1,20,000 m>
l=4a
b=a
124% = 1,20,000
2 = 10000
a =100
I =400 m, b =300 m
Diagonal =500 m (By Pythagorous theorem)
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P(E) =%

Since A={4,5,6}and
B={1,2,3,4} _—
ANnB ={4}
P(AUB) =P(A)+ P(B)-P(ANB)

+é—l~1

= P(AuB)- 66

Required probability =

8c, 'C, 28 21 _49 _7
B tTE. 105710510515
G oo

sin 180° =0
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A neutron has no charge, it is neutral.

Catalyst does not disturb the equilibrium point
but it heat on to get the equilibrium.

Blood is a weak base in nature.
Hence pH value of blood is 7.3.

pOH =-log..JOH ] = -log [107] = +1
pH + pOH = 14
pH-1=14
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(- pOH=1)
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